FIFTH SEMESTER EXAMINATION-2005
INTERNET TECHNOLOGY

Full Marks -70

Time : 3 Hours

The figures in the right hand margin indicate |
full marks for the questions.
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Answer question No. 1 which is compilsory and

any five from the rest.

| 1. Answer the following in a senténce or two-.
| 2x10

(a) What is the difference between

/" connectionless and connection-oriented pro-

tocols ?

(b) UDP layer in TCP/IP protocol supports

connectionless service. (True/False) i

P.T.0.




A |

. 2. Discuss the circuit switching mechanism and also

() | What is the full form of OSPF ? . 8./ Whatdoshme h I .
(d) Whatis the range bf 'Omw Address ? .
() Whatis the full form of [ETF-? i
(f) What is the functionality of an ISP ?

(g) What is the requirement for a routing algo-
¢  rithm? 5.

(h) What is the significance of ‘4’ in the proto- request usadmm

col name “BGP-4" 7
_ &snus& briefly al:ﬂut )SI

(i) What are the major causes of changing to ¢ ¥ 1 WLA D G buss the OSPmeﬂi& o
IPV6? '

(j) What is the difference between symmetric

and asymmetric key encryption technique ?

,\/ discuss the routing mechanism used in circuit
~ switching, . 10
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